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Test 1 Name: L’"ﬂ tijf

Dusty Wilson
Math 085 (no caleulators)

When we aek advice, we are usually lookine ar an gecomplice.
A 15

Joseph-l.ouis Lagrange (1736 - 1813)
No work = no credit Ualian or French mathematiciun

Warm-ups (1 pt each): Tx8=% o 142x3=_7 = ~-
s . ) 7 2
1.) (2 pts) Fill in the Imssing numerator that makes the fractions equivalent: 13 = Eg

203Y 2 0]

Solution: —7— = %)

12 34
2.) (2 pts) Circle the fraction that is equivalent to g
( 15N 10 g
24 13 7
3.) (2 pts) Find the greatest common factor (GCF) of 24 and 60
. boes
xz’cf\ RN é"C-jl = D w3
2. | . N e ras } -2
- a. s ™ GCF:
2’_/ \ P < g g —
&>~ 3 24 2. A
4.) (2 pts) Simplify to lowest terms: E = e % £

Solution: Q‘/{_

5.) (2 pis) A pancake recipe calls for 2% cups of mix. Write 2-3?' as an improper fraction.

Solution: q/ "/

. . 3 .
6.) (2 pts) Rewrite the fractions 3 and g with their least common denominator (1.CD), 45.

_ ; ,
—;?-;{ﬂ; = /7?.3; < 5~ 380 3-=_E;~_?;and§=_;3¢_6;
51 A ys
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7.) (4 pts) Do the multiplication %—x% Write | 8.) (4 pts) Do the division 3-5“-+%. Wirite the
the answer in lowest terms. answer in lowest terms. ”
3k »e Eﬁg“z’l’}?"'ﬂlp
“ 1%
35
el | / il
)
Solution: 2.7 Solution: 3\{/ :1L

9.) (2 pts) Find the value of z in the equation: gx z=]5

;2:,15'*»% = 39=2%

Solution: __'Z,_;L_I__:};:

10.) (4 pls) Find the least common denominator of the fractions 7 and ;;

N LedD = AXx X AKX x5
/’ 7
Je /"?r 243 o

N NN x]v . Lep_Flo

Xy
11.) (2 pts) Choose the fraction with the least value: 17- or —8— e

13 3—*’"

=TARNEY g
-ﬁg(};} =<Y

T S
12.} (2 pis) Find: 3=-22
(2 pis) 7723

Solution: —’:}/j !

b 2

S —

9’ 3 Solution: !E/g‘
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13.) (4 pts) Find; E-Jrﬁ lem%’f {:r.-msx )
. 1
N 4+ 50 YL Ny &L
103 |
b Solution: _fn_i/i_
2 3 1 2
14.) (2 pts) Combine the terms without an x and combine the terms with an x: 3 + Ex + 3 —gx

Solution: u_é"%t%{ix_

15.) (2 pts) Find %—%»[3—%) Om%t CWS

o ' )
g P 2 % T 2y g 2y 2
Solution: 1] N
16.) (2 pts) Find x4+ == _’
) {2 pts) Fin x+§—m-

Y= 2T x :?;_i
1o -3 iz Vo

Solution: W — %_//23

17.) (2 pts) Write five and twenty-nine thousandths as a decimal number.

Solution: _&ﬂf}

18.) (2 pts) Arrange the following decimal numbers in order from greatest 1o least:

0.09 0.89 0.91 0.009 0.9
o8] @ @ %G &89 O oy
greatest o least

19.) (2 pts) Round 98.76543 to the nearest hundredth
Solution: _‘%é’) / ’:}:)'_
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20.) (2 pts) Write 0.28 as a fraction in lowest terms
2% -
g r— pr——
| ter pAS ':;_
. Solution: / s
21.) (2 pts) Write % as a decimal number

Solution: €, 3L

2272 ptzl:) Do this addition: 1.23+4.5+6.78

I A

q.5%
‘—l- ba?—ﬁ,‘
) PRLE i Solution: .57
23) (Hpts) Do this multiplication 8.5x 0.4 24.) (2 pts) Find the value of x in 1.3x = 6.11
i; r r X —_— G‘) b " 'l‘ 1 i 3
C‘}-‘ : l__i, ')_‘ L}‘n ';l
U FERISVAR
o — 52
i o =R
3.5 *° i
&>

Solution: 3 25 7 Solution: 4. >
) ) T T 4 r :
3.} (2 pts) Use the order of operations to evaluate the expression: 19— 2 x [1 9—-3x(5- 1)]

=14 -2x ) 19 - 3]
= g - 1Lx L9~ 1

= - X Solution: __ 3 __
= la—- Iy -

oA



